t}2 1olA AD//CF ©]1 /ADB = E
20°, /BFC =22° ¥ o, /x + 2y °] 27] D

19

@ 65° @ 73° ® 80° @)84° © 90°

B

EB & $14351¥

(ADB = /AEB = 20°, /BFC = /CEB = 22°
Sox=42°

Ly = (ADB + /BFC = 42° (- 91Z}o] AA & o]g)
W2k x4 2y = 84° o[t}




2. o2 oA BD = 9 0 9 #Eo|1 A
/ABD = 32°, /ADC = 84° & ufj, zx 9
37|E FotH?

® 50° @ 52° ® 54°

@ 56° @58°

/BAD = 90° o|B &
LADB = 180° — (90° + 32°) = 58°




oh2 1A Yl A A, B,C,D 7} ¥
9o )& uj, /ADB ¢ 27|=9

@ 20° @30° ® 40° @ 50° ® 60°

AABC ©f|A] ZACB =180° - (80°+70°) = 30° ©] 1L,
HA, B, C, D73 Qo Qlemz /ADB = /ACB = 30°




o2 - oflA /EAD = 85°, /BDC = 40° &€ o, /DBC 9] 27|&
5t

@® 50° 2)55° ® 60° @ 65° ® 70°

(EAD = /DCB
.. /DCB = 85°
.. /DBC = 180° — 40° — 85° = 55°




thS 183} o] 27ty ABCDE 7 ¢
O of A3k LA =85, /D =150° ¥ A/_\E

o, /BOC 2] 27]=?

® 90° @ 100° @ 140°
®)110° ® 120°

ABeD RS 1oH

(EDB = 95° 0|22 /BDC = 150° — 95° = 55°
(BOC = /BDC 9] FA|Zto|2 2
- /BOC = 55°x 2 = 110°




6. oS 1A DBP =55° 2 o, LCAP ©] 27]&?

@® 85° @ 95° ® 105° @ 115° B&)125°

/PQC = (PBD = 55°
LCAP + /PQC = 180°
-~ LCAP = 180° - 55° = 125°




o 179 fellA BAC = 24° 0] T

o]

50ptAD = 8cm, 50ptBC =3cm &
o, zx + 2y O gk& FSHA?

@152° @ 154° ® 156°
@ 158° ® 160°

~&B

8:3=/x:24°
3/x = 192°
o /x = 64°

Ly = 24° + 64° = 88°
" Lx+ Ly = 64° + 88° = 152°




8. e 139 Yo T ADC o] Dol Qo) % % BCD o] Zo]

%%4% o}, /ADC + /DCE&?
D
AN
B C &
@D 107.5° @)112.5° ® 117.5°
@ 122.5° ® 127.5°

rr

B
5.0pt24. 88PEADS = (27 x S olmz

LABC = 180° x Z = 135°

s.0pt24. 88 ptacd = (a2

/(BAD = 180°x g =67.5°

OOIO-')

.. LADC = 180° — 135° = 45°
(DCE = /DAB =67.5°
.. LADC + /DCE = 112.5°




e 1™ 22 AH4E ABCD o 4
A /ADB = 80°, /DBC = 40° o]t}. X
OABCD 7t ol Wi o, LACD <]
A7]E -otH?

@® 30° @ 35° ® 40°

@ 45° @50°

B

Ul " A, B, C, D7FgE ¢ flof lem=z
5.0ptAB 9] 957t

/ADB = /ACB =80°

(DPC =40°+80° =120°

5.0ptBC ©] 937}

(BAC =/BDC=10°

ADPC ©f| A

/ACD =180°-120°-10°=50°




10. o= ™A 2x o 2715 F51H?

@ 30° (@)35" @ 40° @ 45°

® 50°

~&B

/x = /DAC©o]1L

(BAC + /DAC = 95°
(DAC=95°-60°=35°
. /x=/DAC =35°




11. o 2"elA x & 2717

O 20° @)40° @ 60° @ 80°

® 100°

Azt o] ejzte] o 180° ol B
/BDE = 110°

/BDC = 130° - 110° = 20°

CoZx = 2 X 20° = 40°




12. b 293} o] /B = 86° o] I /BDR = 68° U uf, /A ©] 272
qe L7
p_—A
Bl |
il
R Do ©

© 91° @ 92° ® 93° @94° ® 95°

L/CQP = 86°
LCAP = 180° — 86° = 94°




13. thgeld 42

ABC 9] o] gt d P & Fot ol o= A
ABPC & 95211

st of, /BPC o] 7|2 HiE A9

@1000 @ 101° ® 102° @ 103° ® 104°

/A =180° - 65° — 35° = 80°
OABPC 4] A + /BPC = 180°
.. /BPC = 180° — 80° = 100°




& AtelE © HAE
© ANZY @ ER
® BBAAY @ SATelE

® 6,66 @ 06,0 ®a.e.6
® 0,60 ® 3,0 6

ol

3t Ag0] ti o] 9ol 180° o ol Wi bt

r




15. o& 1384 BOC = 80° °|1,
/ABO = x, /ACO =y & 1|, x%} y 9
AL o2 gutE Z29

® x+y=65° @ x-y=50°

® x—y=35° @ x=y+45°

@x—y:40°
B )

(BAC = 40°,

x+ (BAC =y+ /BOC
x+40°=y+80°

L x—y=40°




P N

16. & 1A 5.0ptED = 5.0ptDC ©]
1, /DBC = a°, /DAB = b° & W, x
o] F2?

® a°+b° @ 180-a®
(3)180 - b° @ 90 +a°
® 90+ b°

R VY
5.0ptED = 5.0ptDC ©]2& /EAD = /DBC = a° °]1
WA+ ABCE ol|A] /EAB =a°+b°
StH, /EAB 9] iz /BCE = 180° — (a°+ b°) ©|t}.
w2t zx = /DBC+/BCE = a°+180°—(a°+b°) = 180°—b°
. x=180-b°




17.

ot 1o A gABCD & € O o WA
skl /DPC = 35°, /BQC = 25° & o,
/(BOD 9] 77]1&7?

@ 100° @ 110° @120° @ 135°

B

/BCD = x 2} olH, /DAQ = x

LADQ = x+35° (AZ+4 9] 92
AQAD A x +25° + (x+35°) = 180°
L x=60°

w}ebA] /BOD = 2/BCD = 2 x 60° = 120° ©]t}.




18. 2 24L& =S o, oABCD 7}
ol Aok k= A2

@mxﬁ:mxﬁ
@ QAxQD=QBxQC
® /BAC = /BDC
@ /ABQ = /ADC

® /ABC + <ADC = 180°

OABCD 7} el Wdst#
PA x PC = PB x PD ©]o]oF gt}




19. o3 I3 Zol ¥tz E9
N N
o}, 5.0ptAC + 5.0ptBD &] Zk-2?

Z0]7} 10 €1 ¥ O oA LAPC = 60° &

5 10 15 20 25
@ =T @ gﬂ' @ gﬂ' @ gﬂ @ Eﬂ
/ADC + /DAB = 60°
5.0ptAC 4+ 5.0ptBD = 22 w907 = 225
b “PEEY = 1800 3




20. o3 IHolA A Hol ot H PojlA
a8 HA PT o &4 PB 7} th--3
2 o, x o gre?

® 3 @ 4 ® 5

@6 o7

~&B

AQxQB=CQxQT

AQx6=8x3 L AQ=4

PT’ = PA x PB A4 (46)? = x(x + 10)
x2+10x-96 =0

(x+16)(x—6) =0 Lox=6 (" x>0)




